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Happy Tuesday, March 7th!

Do Now: Revisit yesterday's exit ship! I made a

mistake.
sin(x) + sin(x)cot *(x) = sin(x)csc”(x)
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Homework Questions from Last Night?
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Long Worksheet
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- U6LT3 Inverse Trig

- UGLT4 Law of Sine/Cosine Optional next
| T'hursday,

- U7LT3 Modeling March 16th

- USLT'1 Proofs
- USLLT2 Solving
- U9LT3 and U9L T4

Mar 7-7:19 AM

USLTTI I can prove and simplify trigonometric
1dentities.
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What's the difference between PROVING,
SOLVING, and SIMPLIFYING?

Eroving ‘\’S:(\)(l;c];\w Simplifying
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Which 1s the MOST SIMPLIFIED?

sin(x)cos(x) tan(x)

sin’(x)

x> +7x+6

(x+6)(x+1)

csc(x)
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sin(x)
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tan x + cotx
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2
cot™ x

l+cscx
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Exiat Ship: Stmplify the following:
Sin
tanx =

/

I

secx =5

Simc
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